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LESSON

NAME DATE

Available as 
a transparency

Randy has some $1 bills and $5 bills in his wallet. He

has 15 bills in all. He counts the money and finds he has

$47. How many of each type of bill does Randy have?

Let x represent the number of $1 bills and y represent the
number of $5 bills. The system of equations below is an 
algebraic model for this problem.

1. Add the equations by adding the like terms. Describe the
result. Can you solve the resulting equation? Why or why
not?

2. Subtract the equations by subtracting the like terms.
Describe the result. Can you solve the resulting equation?
Why or why not?

Beka is supposed to work the same number of hours

each week. One week, she worked more hours than

usual. The next week, she took the same number of

hours off. If she worked 42 hours the first week and 

34 hours the second week, how many hours is Beka

supposed to work?

Let x represent the number of hours Beka is supposed to work
and y represent the change from her usual number of hours. The
system of equations is an algebraic model for this problem.

3. Add the equations by adding the like terms. Describe the
result. Can you solve the resulting equation? Why or why
not?

4. Subtract the equations by subtracting the like terms.
Describe the result. Can you solve the resulting equation?
Why or why not?

x � y � 34
x � y � 42

x � 5y � 47
x � y � 15
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